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“sam i e fEfiea @ @
foraeh grr wepa § g oft ¢
(A) wiEor (B) €UIME
©) i (D) hurd
The “Praya%a Prashasti” had been
composed by whom among the
following in Sanskrit ?

Harishena B) Banabhatta
Bhavabhuti ng Baudhayana

fr=faied § @ a1 @ wRe & @ e w
R R T ) e ) S e 7
(A) R (B) TSN A oE
(C) SFRFA (D) et e
Which of the following is the largest salt

water la oon lake situated at the Eastern
coast of India ?

A) The Kolleru Lake
The Panchbhadra Salt Lake
C) The Lonar Crater Lake
The Chilika Lakes "

Yaq W fohe T @ e s a2 7
(A) g (B) ©%
(C) 9. (D) 33

The white light is composed of how
many colours ?
(B) Six

(A) Five
(C) Sevens (D) Eight

e iR % iR A s dn s o
RiR@e ?

(A) cfEoranbie (B) sERfmn

(C) arrefern (D) Treiidig

The Great Barrier Reef is located at the
coast of which of the following countries ?

(A) South Africa (B) Indonesia
(C) Australiaay” (D) Philippines
frafafea & @ = 1946 & @
WU A S AW 7

(A) TRER ToeowwTs 9ot

(B) SETETS HE®

(C) <. &t e

(D) . <. TN yarg

Who among the following was the

President of the Constituent |
India in 1946 2 ettt

%‘éi Sardar Vallabhbhai Patel
C

ngthﬁrlilln\I ehru
« DN, bedkar <
(D) Dr. Rajendra Prasad (¥ 4

FK-3

+(C) Viticulture

,‘,_:‘.\f_;_‘{.t A) m

\\,:(B)

e & et iR 35 PR i
mqﬂm ¥ s 8 aen

Hiepfeh wEwA 8 7
(A) fmn (B) 3r&H
©) fufewn (D) 3nfem

The Sonepur Cattle Fair is a cultural
event held at which of the following
states of India every year ?

(A) Biharay”  (B) Assam

(C) Sikkim (D) Odisha

SR 1 Aelt, I 3R Fers i Fferiaa
FY g am AT ST R ?

() ¥wem  (B) fiwe=

) féweR (D) we=

The cultivation, growing and harvesting
of grapes is known as which of the
following ?

(A) Sericulture (B) Pisciculture

(D) Horticulture

Jentsen Ht vafat S F Faw H @
fewrdt 8 | veifeat 6t a8 J@en wwa %
i A o i fRE e 7

(B) dfirerTg
(© F« (D) HlesH

The Bailadila hills look like the hump of
an oX. This range of hills is situated in
which of the following states of India ?

(A) Chhattisgarh (B) Tamil Nadu
(C) Kerala (D) Karnataka
Fraiifen 3 2 e g A g
HERI T g SR e mﬁ%m%qf
(A) smefafiem

(B)/ T Sieterener 3tk =i o} T
(C) THER TASHEE]

(D) Af SereTEnsy

Sri Lanka is separated from India by a

narrow channel of sea formed by which
of the following ? s

(A) The Eight Degree Channel
The Palk Strait and the Gulf of
©)

Mannar ° ¥
(D) Effg

TNT

2

The Makassar Strait
The Strait of Messina
w'-aus'mwimm«wgmswnm‘m:
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L1,

AA) 23 3=

12.

13.

‘FUREE” Prefafed § @ g Qs
A At iR 7

(A) wegw

(B) wrfy

(C) wEmHy wiferem

(ﬁ) LHES|

“Kumarasambhavam” is the literary
work of which of the following writ

(A) Kalhan ERctem s
(B) Bharavi X

(C) Mahakavi Kalidasa 4/

(D) Mahadevi

“Rres g Rew” wol® o Pl
3 frg e wamaman g ¢

®) s3A

(C) 73BWA. (D) 2554
“World Book Day” is celebrated on
which of the following day every year ?
(A) 239 April  (B) 5" June

(C) 7™ April (D) - 25" June

s i a o s go i &

IR | 916 Igd T e i w wrig
Jureht foerfta g8 oft K@ Fog wvar ST

27
(A) TSRI@ (B) wAleH

(C) fmeEwEm (D) F«

The parts of which of the followin
states had evolved a local system o
canal irrigation called kulhs over four
hundred years ago ?

(A) Gujarat

(B) Karnataka

(C) Himachal Pradesh 4

(D) Kerala

T 3 SETORT G % fTT wate ug B

qR e :

(A) SEFTUET ;

(B) WERRTZR 3R 0T AT, W

© -

(D) a3 aofteht Fewrh

What is the highest post for Census

Organisation in India ?

(A) Census Officer

(B) Registrar General & Census
Commissioner, India 4"

(C) Deputy Registrar General

(D) Sr. Technical Director

14.

15.

16.

Befl 2w B wmd g d @ A
S S 3 9fy @ P
A 1 HE AT R 7

(A) Wl (B) st fehmd
(C) 3MufRsfiew (D) Tmef

The increase in the proportion populatio'n
of a country who live in urban areas 1S
known as which of the following ?

(A) Urbanisation 4

(B) Unplanned Development

(C) Colonisation

(D) Rustication

e Tt Set fafie (NALCO)
w1 Uslia wrate Prefafga § @ e
WHRE ?

(A) e, 3TEH

(B) femeg, sm

(C) EReR, Afewm

(D) TR, THETG

National Aluminium Company Limited
(NALCO) is having its registered office
at which of the following places ? .

(A) Noonmati, Assam

(B) Digboi, Assam Y

(C) Bhubaneshwar, Odisha %/

(D) Raipur, Chhattisgarh

fava @ e (WHO) &1 &
freafrfead afrrwmw R e 7

C(A) OTRTEH, it

B) o, feerets

(C) o, sfeam

(D) e, o

The headquarters of World Health
Organisation (WHO) is located at which
of the following places ?

(A) Amsterdam, Netherlands

(B) Geneva, Switzerland %"

(C) Brussels, Belgium

(D) Paris, France
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; @hH U ufeg
7, Fefan 3 @ w e AR (o1 TN FRS et 5
e Sl s A qemA & | A A
foe o d Iug ? 7 qEa FEe TS Tee
(A) HEIH ®) & (4) WOl S
(C) T=Wm D) fiwegt (B) WY
Which of the following social n}cdla (©) fen yffepraft <11
platforms is best suited for professional { o iz
networking and job hunting ? (D) sl . - ersity was founded b
(A) Facebook (B) Snapchat Banaras Hindu University s by
(C) Instagram (D) Linkedin%/ Pandit Madan Mohan I\gf 3?/11)1’3 Wltgl
: Y ooperation of whom among the Iollowing
18, ST R st e A AR | or Vallabhbha Patel
e & ferg g @ 7 (B) Rabindranath Tagore
(A) Wﬂ‘ﬂé (C) Madam Bhikaiji Cama
(B) m (D) Dr. Annie Besant &/
© , .
(D) =hIt gt & & 22, wyu FrefaRed # & frmehl seered @
Bhadohi that is located in Uttar Pradesh is o syl % AT A ¥ff T SR 7
famous for which of the following art ? T TTEH N 4
(A) Carpet weaving 4" (A) fe ®) TN
(B) Chikankari (C) WEHTE (D) WEHIH
(C) Saree weaving Mathura is the birthplace of whom
(D) Glazed pottery among the following that is also known
19. Fraffea # & ¥F @ I Rw = T as Brij Bhoomi ? _
-1-&1-% ? " (A) Lord Shiva (B) LordKrishna
(A) 3 (B) =TT (C) Lord Ganesha (D) Lord Rama
(C) v (D) i@ 23. IS T HFEU Prefeiay 1 oS
Which of the following is the state tree R ?' A3 form |
of Uttar Pradesh ? 1
«(A) Ashoka (B) Banyan (A) Fpen (B) WL
(C) Oak (D) Bamboo © @ D) w
20. @ ard gﬁqg Iy g e grgafen Akbar’s mausoleum is located at which
AR 1= 32 gl & e ware v off am of the following places ?
%, 3w % Peffaq 4 d fra R 5 | WA(A) Sikandara  (B) Rampur
Rmg 7 - (C) Unnao (D) Etah
A '
() " @) T 24, Frfrfe # & 3w Rw w1 9 g
st (D) W o T W sk ¥t
Surha Taal is the famous sanctuary that i H %
gl%o receives many migratory birds from fepen s @ 7
octied a4 ik e Rk | L) W @ Bm
districts of Uttar,Pradeos.h ?the Wllowing MC). ot (D)
(A) Ballia 4 y : Which among the following well-known
(B) Etah follg dance of Uttar Pradesh is performed
(C) Gonda during paddy and maize cultivation ?
(D) Sant Kabir Nagar (A) Charkula (B) Rasiya
mmem'mmxmmtmmm s S T (Czw"quka BaUI (D) Kajl‘i ]




25.

26.

IR TeW T Wik, 2006 F JTAR TH
ey a1 U 92, gueey a1 IS & qga
mﬂa%\ﬁhuf‘gaﬁﬁwﬁ-ﬁﬁﬁﬁwm
Sdare ?

(A) 43 (Holding)

(B) =™ (Grove Land)

(C) F 9 (Agricultural Land)

(D) wRfFq (Consolidated)

A parcel of land held under one tenure or
one lease, engagement or grant is known
as which of the following according to
Uttar Pradesh Revenue Code, 2006 ?

(A) Holding 4"

(B) Grove Land

(C) Agricultural Land

(D) Consolidated

A TETHT (UPSSF) 1 G 19 e |
(A) I m W m ‘-ﬁ'é v.‘:‘\\:\;;;:::‘
(B) I ¥eN Hiters RNt wid

sgne, (D) ST Fiwrer ai Wil
L% Give full form of UPSSF.

(A) Uttar Pradesh Special Security Force
(B) Uttar Pradesh Solid Security Force
(C) Uttar Pradesh Social Security Force
(D) Uttar Pradesh Social Source Force

27. Faw fim dema IR wRa

feafafgr iAo N wmad 7
(A) ST (B) AT

(C) TvTa (D) FwH f
Nivesh Mitra Mobile application is an

initiative of which of the following states
of India ?

#(A) Uttar Pradesh (B) Telangana |

(©) Gujarat (D) Assam

28. fagfiertor Y famaferRea o @ v T @ oft

NXPOCENTTY L S
TN I DTS NN PN e ez

AT AR 7

(A) g (B) I¥ gp T
(C) I\ (D) rewd

Demonetisation is also known by which
of the following names ?

(A) New Currency (B) No Currency
(C) Cashless (D) Note Ban+.”

30.

31.

mwrcmm

29,

“(C) Bangladesh

FENPOUHNVIV & PN T DoV PR

freferfaa 3 @ i @1 919 Shegd & e

q@ R 7 .
(A) TG 3R 13Tl T sy &
S |

[SRILY

B) uad Fqe 29 Hfee o1 geg &
U2 % @M + I TH & W W
FEGH! SR A1 AT R AT
It IR TGt B | 7

(C) et T Tasr-amuia F 2 |

(D) THA Tohet TMTEA & dEd R o A
T WIS SR BRI R |

Which of the following sentences is not

correct for GST ?

(A) There are multiple levies of tax on
goods and services.

(B) GST is a comprehensive levy and

, collection on both goods and

services at the same rate with

benefit of input tax credit or

subtraction of value.

GST is a destination-based tax.

GST 'is a common law and

procedure throughout the country
under single administration.

-9 § WAuT W9 S g?my?
HION & Y Faesfiar smert -
T, THad 3R shfde e Ryawor anfe wre
FT T A FT HEAATE 7

(A) TR (Phishing) 4,

(B) if& (Cheating)

(©)
(D)

(C) R (Losing)
(D) (Sourcing)
An attempt to obtain sensitive

information such as username, password
and credit card details etc. for malicious
reasons, by posing as a trustworthy
source in e-mail is called as

(A) Phishing (B) Cheating

(C) Losing (D) Sourcing
‘o fefafea A A fra dm i g 2 ¢
(A) W ®) TH

€) awRw (D) wurdte

“Taka” is the currency of which of the
following countries ?

(A) Serbia (B) Turkey

(D) Thailand

mm&meRMNW‘



32. Tfafea § @ = w1 e ggal 3R

33.

34.

RINPOCNTETE o poIN DIV S OIS PEILNOEY &l OO P A TP PENPAVCNTIE PR FEHN PAVENTIV R ON PRILNOTV L PO

TU IAGH HUREl B HM wgd 3N
wfcreqefl wiem der e & e I 0 24
fsmarg ¢

A) [T TR

(B) Mg EHITH

(C) T TR~

(D) TS M T TR

Which of the following awards is given
to motivate Cooperative and Milk
producer Companies to grow and to
instill competitive spirit ?

(A) Dronacharya Award

(B) Dhyanchand Award

(C) Arjuna Award '
(D) National Gopal Ratna Award 4
frferfea & & iR w1 seme %=, TRE
FfRme e

(A) AmEH seuTE

(B) ETEEAIE € WEuTE

(C) TRIE SeTTE

(D) IS FETNE (SHAT SETTTE)
Which of the following ports is located
in Kuchchh, Gujarat ?

(A) Mormugao Port

(B) The Jawaharlal Nehru Port

(C) Paradwip Port
(D) Kandla Port (Deendayal Port) 4
T & H, ot i g 3 Fafafaa & @
e wWR W AWa FeRes STl
HEyH 3ATF sfear (NCDFI) & & i
FHTYRRET W& 8 ?

(&) wfER  (B) FTEE

(C) SEg. (D) AW
Recently, Shri Amit Shah has laid the
foundation-stone of the headquarters of
National Cooperative Dairy Federation
of India (NCDFI) at which of the

following places ? :
(A) Gandhinagar (B) Bengaluru

35.

137

(C) Jaipur (D) Anand &
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36.

38.

ffifga § A fFad T & & aﬁﬁa.
aEd Gueg St AMRFR ey
39 (KLI-SOFC) %1 31 fkn 5
) ATEAE_ (®) A iy

() .. (D) o Ty g
Who among the following pyq

: ted Kochi-Lakshadweep Islands
lsnlfgx%g?nz Optical Fiber Connectiop

[-SOFC) recently 7
XL Shri arendra Odl \ ¥ 4

Shri Amit Shah
?: Dr. S. Jaishankar

D) Shri Rajnath Singh

3 dfmea Y T @ A WAk
P 3 & Fra 30 3 9 T ok
ifersfreran wsia 1 A G E ?

(A) -UTA (B) et

(€) el (D) SR

The Union Cabinet has recently
approved the Migration and Mobility

Agreement between India and which of
the following countries ?
Sri Lanka

5‘8 ﬁ: ya{:-t; V4 ggg Germany

Tl € H, MR 0T 1 B 318 1R
IAETCE wE fFrafaiga § & frw wm
WRIENR?

(A) TR SeTTTE, Siaew

(B) islet 3¥elt b1 wiguTre, .0.%,

€) WM, Al

(D) i, e

Recently, Indian Navy’s Fast Attack

Craft INS Kabra ha : uie
the followin placess‘?arrlved at which of

A) Matarbari Port, Bangl
B) Port of Jebel Ali, U.%\?Ig.e Sh
C) Male, Maldives

ohammad Alj J
Maulana Aza't‘ih Jinnah
Badruddin Tyabji
Khan Abdy] Gaflfar Khan &

"W.\’:Uv'.' mm«m&mm‘ M'Wm.‘
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39. Trfelen & 4 agE s AR 7 48. ‘Tucamee ABH @ IR R ?
(A) FES (B) T ) fa B) freat
40. iﬁqi%%lﬁa T q fra fawes § ot T (49, ‘W'Wﬁaﬁ?mm%?
@) o7 @) T EEmys| A @ AN
(C) wem,fiem (D) FER, T © = D) ™
41, SR 3R o w efafeg g (50 TRUNG UK AR AR ?
e w1 & e € 7 (A) fag
(A) FaY  (B) Iohe (B) ggaHE
(C€) 3= (D) ST () e wE
42. ‘g8 3R IWF i At e’ @ aw=im H (D) qeqed @ &
PG TR AT AWM T st o, wwehe d s 7
Y, (A) frcaras gdam '
(©) m. (D) TH/ s
43. forw fommea o e gftrem-fivmeias 1w (C) S¥aTE® Fa T o

-9 R ?
A) T -fa=m =g -/
(B) YWIR - MR = =g - R
£ (C) 0T - qut = {1 -9
(D) ¥Fd - JEA = T T - Feed
Frafafa 3§ & fre feper d g o @ 7
(A) TSH FEAYH B IHIBA & |
" (B) @IS HIUgg e E |
(C) @ —geieil Sl AR HAT A 8
(D) o8 Hitea & a1 H wefieq i W R4/

44.

45. Pl i & gfes wreg w1 5 HIRTT ;
(A) faEr &~ @®) "=
(C) IE=H (D) vuHiaT

46. Frfafea & & form Tt &1 ¥AM THa=
HRAR ?
(A) TR~ (B) @H
©) wHeS (@) ™

47. B IR ! @ R | Wifha W ¥ HIF 4
FH 2 ? _
(A) 4 FRH (B) HUSH HH

(D) AfvagaTEs qeA™

‘afered’ W= % du-fasde w1 wEm

Hif :

wAA) Tfeu+aem (B) #Afe + e
(C) AfeU+3rerm (D) wfew+e

53, aramu g # o fra T A ST ST
27

) seuifier (B) A s
©) wrFfrea (D) s fug

54. ‘gamy W= ¥ TR TR ¥ demEus
v wIEm R ?

(A) AT TeEas

(B) wg=gEIYS fasyo

(C) rgftries fergor

(D) TRTETE fatyor o

55, wﬁwéﬁgﬁ%@w{l’mmﬁ
S e ¢

(A) gemfers B (B) mwg%m

52.

(C) FUIHRE (D) T BRHY

FONPECLNTEVL SR POTEA TS Vil xS PEILNTH VL SO SOCTA TV PN PETITN TRV

© wgmbem (D) R By

RIVECONPLITIVE Sex oy,
. 7 imm«m‘mm«uﬂ‘:mm;m,
POTorteve
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56.

57.

9% SIS ST YT 8 ' 39 91 B Bl
|

(D) ST e /o e o/
;’; f‘ﬁ T | 39 qeg § 99 91 9=

IR R : (F. E. 65-69)
TR W@ R | T G H T

7z 3 T Wl W‘;n:
mm?ﬁ?m%ﬂm:ﬁa’wﬁ@rg@m

(A) FHar AT
(C) wHaT=R (‘3 YR T R ¥ | 39 R & WG IS & S
58. ﬁammm’mwmm. Qﬁamaﬂtmﬁ@ﬁﬁﬁqm
(A) =% S e ' §, afes b e o, o, $eifim,
(B) uTh A3 = oft I F AEH h e ¥
(C) mFw e TUE ¢ wife W aft W % dww! #
(D) e a1 ) W e o7 | o a5 v gifa o agd g
59. ‘wE’ 1 faeim wee @ o 7 @ & Reeh g W 7t &
(A) TEEmN (B) W auTRia Riftg qqe™ E3) gf& WA: T
‘(C) e (D) T=HA T | FHT quTeRida 3= fifdra wem o
60. WW,WW?W’WWM Wmm%’ﬁmﬁawm
Prerferfm da s ard 7 R W S N
(A) a1 & Hi-amg et 1 o oft 3t B wHi
(B) 3Tt o B o7 = 3R =
©) WwwgaAELE T e et § e o o
61. Y frw @ F v HAINTE IY=TTe
A) dEw@ (‘B;Tﬁfm;m A A R e |
© W@+ @D kW 65. I Yidep Sy -

62, AT fefa 3k ; (A) WRe <t grawen ey
I ik F *@fwﬂ@m (B)  vireter et 6t grreen E‘lﬁ
(A 10 .0 - (@) I \\@ ©) e Rl ot aieh-ivg
(0 158 D) 16 N (D) WME&@" 4

63. Tmfelaa & A frg o 66. ST Sra
it i %ﬁﬁﬁ*’mwﬁm
@ B @) s ) 3 3 4 o
© BT 0w (B) mmm%m%% H g A
64. Trrfirfga # & v TeT-=Te T S T |
'm%mgjﬁ??mmmm (©) 3 A =T el Refe et o
(A) tm'm B) =™ qga'[q'éfq-ﬁ ¥4
©) st D) R (D) It Tt +1 T8l F T Td-
13 /2 JH e SIS I T T |




67.

68.

69.

70'

71.

72.

73.

74.

75.

WA(A) e - T

76.

A0 arfireft

AONPITIN TIVR PN PSAL
ATITE RN
. S PN PIULHTWT A 00 IOCLATIV R PON PERILN V& FONPNTN O Tl

mteﬂamaﬁésmﬁmawﬁm%
forg et 1 3Tl B WIS @ 7
A) = (B)
(C) e D)
‘qmﬂat’ﬁsaaﬁﬁmﬁmm%?
;) e (B Tt TR
€ werRd@d (D) TERIT
mmﬁweﬁ? '

(A) "aameE  (B) Hd g
© daEy/ O Ha THATY
ﬁuxﬁrﬁéﬁﬁ%aﬂwﬁwuﬁaﬁﬁaﬁ
dEu @ 8 ?

(a) T (B) gl

© &y D) gt
frofefaa & & TE BH q YHER H

Fuy gloaw-freds W w5 !

-t fEd AR AR ?

(B) ¥ - ®QA

(C) «ieq - Sed (D) I -9

it S T FA B AT b

yI&e 1 T HIfC | it
(B) I

(A) T
(D) IR

ﬁ@naﬁlwaﬁmﬁmﬁmwﬁq

7. -
fmfora FeTl %

a2 1A E@ 178

<t T A &= 7
A number when divided by 119,

19 as remainder. If it is divided by

will leave a remainder
A) 1 C)3 (D) 4

%% 17.28+x -
3.6%x0.2

leaves
17, 1t

78. &

Simalife 17.28+x _2
ImpULFess 6502 oD
@A) 10 B2 © 14 O 15 4y

freffad 3 st (2) 6 ¥

qu T 3T 7
What will replace the question mark (7) -ﬁ/
in the following ec21uat10n ?

5072.19 + 368312+ (D= 9018.618 ® \
A) 3571.116 % 3578.112 PV,
?c} Dy 3578.116%" W3

79.

3571.115
80. '

Je 3 HEA2:3%
afe e % 3 § % 2,000
Y T A 40 : 57 B ST R |
FAAH AT 8 ?

Salaries of Rohan and Soham are in the
ratio 2 : 3. If the salary of each is increased
by ¥ 2,000, the new ratio becomes 40 : 57.

What is Soham’s present salary ? Q2=

WwAa) 17,000 4 (B) 20,000 sl’z,gs»?

(C) 25500 (D) 34,000 3908

82. Frdeperl, 20% B 10§ AHA ang%%si/
10 9§ ¥ AR TR 6 BEI <l T 10 T H

31 % o 6 T, S 6 48 B, 2%

3 ¢ . 3 ;

ﬁrﬁmﬁgﬁfmm% ? Sel

n a certain school, 20% of student L
. s

below 10 years of age. The numberm(.)ef'l 3

ik

8 .

k.

At 7

HigH &1

students above 10 years of age is < of
3

the number of students of 10 years age 435

which is 48, What i
. t -~
students in the scholsl t‘? e total number of ¢

A
@R _©% ©1 @ 1o

L™



86.

o

83.

W(A) T2,973.33

8s.

7 DAL
»' 7 ARG

& a5 T PR Fina @ A= Al @ |
maﬁqﬁ%%m%ﬁmwﬁlaﬁ 10%

£ g Bt ¥ | et Hiwa T e wfrd
Trd hife |

An article is sold at a certain price. By

: 2 ;
selling it at 3 of that price one loses

10%. Find the gain percent at original
price. :
A) 25% B) 30%
(©) 35%% (D) 38%

T TRR Tl W W 3 99 W1
T 4,460 3 6 = WG T 6,690 B I 2 |
AT Tt T i |

A sum of money amounts to T 4,460
after 3 years and to ¥ 6,690 after 6 years
on compound interest. Find the

approximate sum.
(B) 3,121.66
(C) ¥3,11533 (D) T2,991.66

d9 @¥ER P, Q 3R R & €™ T®
@ | P It H1 A, Q F T %
& T % wue @ ot Q S, R A
§oft & R T % O R | 9§ F 3@ H

727,500 % For A A 4 RF TR

Three partners P, Q and R start a
business. Twice P’s capital is equal to
thrice Q’s capital and Q’s capital is equal
to four times R’s capital. Out of total
profit of ¥ 27,500 at the end of the year,
R’s share is :
(A) T7,000 o AB) 2,500 v
(C) %5000 (D) 15,000

g GEa % 3fEd 3.75 8 | WA H
3fea 3.2 3, FEfe 3= Q &1 3 3.55
R Ademaim N ang 7
The average of six numbers is 3.75. The
average of two of them is 3.2, while the
average of other two is 3.55. What is the
average of the remaining two numbers ?
(A 43 - (B) 4.4
©) 45/ (D) 4.6

FK-3 =
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87.

88.

89.

90.

68 (A) 38 HE/sec.
% (C) 42 qhs/sec.

/@0 T MZT
/ A
e g ergfa T A 10 T
e i 6 i 34 e
wmﬁmﬁammﬁlmﬁ

aﬁtzﬁsﬁm’fmmﬁwwﬁw
FEHA & 7

d 6 girls can do 2 piece 9f work
s while 6 boys and 4 girls can
k in 8 days. In how
boys and 2 girls do the

4 boys an
in 10 day
do the same WO
many days can 4

work ? (Ut tn)lo QQW?IJ
(A) 25/24° (B 27/2 Yo Bl = vopH
(C) 28 @) 30 Qb= o8

" 0 &2
S 26, 20, 14, 8, ... 1 2191 TG M ﬁ—%7
HRAT | on= &(,*@H)z;‘o

a -
Find the 21° term of the .s('equence 26, 20
14, 8, ;

(A 146\ ® —94“*‘%@%?"’}’@@%—\?—)

(C©) -100 Eﬁ D) 88 Seo
AR A 1 ST6 13.86 FHA € | 3%
z 3.2 Wiy X it A 3ht 918 A i fg%
T F1d HIT | (1 3FRA = 10,000 m?) 3
The area of circular field is 13.86 %//}
hectares. Find the cost of fencing it at the ‘
. o ap= 39 %
e = 10,000 m?) ]
A) 422404 ®) 5138 Q7 i 2
(C). ¥5,808 D) 26,132 P @"’q,
. %
w w9 et /cfer o & 25 e | o 2
N T

Ahmmman s § U, e

\385

How long will a boy take to run round a Ql}"l

square field of side 25 metres, if he runs 4
\25°

at the rate of 9 km/hr ?
A Dol

(™)

(15) 48 qHe/sec.

it TRl PEN AL OVl RSN PEL N

EFPI e &
e

T

%

(@9 4Wsec.
Astiinlots “-;:zﬂsm.:m. ATETc S pezoTra
Ak o
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. E. 91 @ 95 : | U 1 447 Bt AN

IGFH U 9T YT & I3 |
Q. Nos. 91 to 95 : Study the bar graph
and answer the questions based on it.

v (A )/
- % 33

Prodaction (in Lakhs)

el ©f W g WA w 7AaTRa (A d)/
Production of Mabile by company (in Lakhs) over the years

2001 2002 2003 2004

=4 /Years <t

200, 2006 2007 2008

<

o
—-

92.

2003 § 2004 d% HIEEA & Idrgd °
sy wioera e &= ot 7

What was the approximate percentage
decline in the production of mobile from
2003 to 2004 ?

(A) 21% %y/%(C) 27% (D) 29%
2005 31’!(@;006 1 offgd I

i) S WREI

Y320

2\ 0
~( v

v6. ar A1 i @ P ¥ A dad H

e 3r=Ef) R A wIHe R

Choose the Venn diagram which best
explains relationship among given :
Husband, Family, Wife

O 5O

{
\

©

fog mu R # R P e @ w
awﬁm%,quw%ﬁﬁa!ﬁmt.aﬂt
39 el Y Ui @, @ 37 geul h GG
N EAfmTgg T € ?

In the given figure if Triangle represents

C©,0® o

¢

2

T yvie

¥

Proafafes & @ feg aul & 9 & aEa healthy people, Rectangle represents old ) ¢

¥ persons and Circle represents men, then 20
IeTe o ferge su o 7 what is the number of those men who are
The average production of 2005 and healthy but not old ? w@a\
2006 was exactly equal to the average +s4 | S—gg[cj
production of which of the following ge 0‘% # \3&‘4 ES)
pairs of years ? . 13S
() 200637 /and2007 22 %‘.& \?‘C\ loS @ $e
(B) 2004 37 /and 2005 s 9l © g &\@ 9%
(C) 2004 37/ and 2006 = i 10
? 2002 3/ and 2007 " gga B)5 (C) ™®s 5
2001 < g 2008 & HETE % IS |98, “+ 1 371 W R, +* T e om B,
3 argafaa wfowra gig = ot 7 “x’ & R uTE R ol — Faf S}, @ Lo A2
What was the approximate percentage 63x24+8+4+2-3=2 ¢392 N 220

increase in production of mobile in 2008
compared to that in 2001 ?

@ 16667%  (B) 183.33% %

C) 195% D) 200%

fau el & & foram ol | drearger o1 I
few 1o =l % taa e & siftsw o 7

In how many of the given years was the
production of mobiles more than the
average production of the given years ?
AT B2 (O3 O 4N
form od # fawe ad 6 gomr d I §

99.

If ‘+’ stands for division, ‘+’ stands for ﬂ..gxu%?-*

multiplication, ‘x* stands for subtraction | ., .3x2%3
and ‘~* stands for addition, then T
63x24+8+4+2-3=9 -
(4) 58 ®) 60, ©) 61 (D) 63 te=

= faewedt A F @ T R (x)

i By g |

Choose the correct mirror image of the
given figure (X) from amongst the four

sfeera gfg srftreran o 7

In which year was the percentage
increase in production as compared to
the previous year the maximum

(@L

I (&b

Sexl. (A) 2002 (B) 2003 : 1
%JSO (©) 2005 (D) 20074/ (xeA)l ((23)
R e e e

"'/,o 1

1Y
2 %039 ) 207
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100. Fr=feRaa woa 3 v weg foan mn R, 34 (107 A o 7m0 1 # T B ﬁmaﬁl,

16 IR Wieg fow u €, Rl A us Ry M I, maqhwmma%ﬁqmﬁm%l
T & T HT IqANT e TG A A TG Tg 74 BT B Hf/?'?fé
FHATR | TE oG 33 | g’ aF /3 I B H/A T
In the following question, one word is GG g/i‘ 3 dgar W3 % = feu M
given, followedg by four words, one of 33 mmgﬁ |
which cannot be formed using the letters feredl .
of the given word. Find that word. o ; H1 AR B R wwferd &ef §
ADMINISTRATION HAieH T T A8 7
EA; MIND STATION

C . RATION fBDg MINISTERS T : . & . /,

101. 3 1 P 61 Gogg & 78 e et B e . g | 3ed s o FEeIn T Hwma
TR R HR T Y @ TR = e | :
. T QUHAT ?
Which one set of letters when 1. & | 98 39 fawmet e YA % A
sequentially placed at the gaps in the a1 7= BT et Sdae |
given letter series shall compﬁete it?
aﬁd_x@n,_\_n_xg:_a_uj h IEMA @S | .
nmaa a Y V/ Wﬂw m
EC; mnadmna “g%; nmadnan - g%m@%ﬁ%ﬂw :
102. fou 7T fowret & A w7 wdt frpen 9 &

RIS Y T R | e st T HE AR )
g_hoose gle correct alternative from VAR ks e IR &“\/
given é)ngg tggt g\gllé:gor? lete the series. WRE, WA FA NS B HHaT S |
(A) 78S (By83 " (C)85 (D) 87 (A) F1 3?““3'@%' .

103. ¥ : i : : @Enw : (7) (B) a1 A § |
A) &g (B) =@ (C) ae I 3 Il Jofed § |
©€) fa= (D) @Té Q,W“‘ (D) e 11 3R 11 w7 & |
Lion : Den : : Rabbit : (?) . Question given below consists of a
N L s Kb ) e statement, followed t:{ four arguments
C) Burrowy/ §D Trench numbered I, II, IIT and IV. You have to
104. BPMN : CQNO : : GTPL : (? decide which of the argument(s) is/are

A) DUQN QII\\,I/I« strong’ argument(s) and which is/are
gCg 3 Egg EUQ%‘ ;gggls‘e S (e)llrlrgument(s)ﬁ. anctih acl:cordingly
f=fefaa 3113;% ETERERS] : answer from the alternatives

b How many triangles are there?in the ngen below the question :
following figuge? A tatement : Should India go in for
0 5 M :g;rtlgrlétgnzatlon in all possible
’ Arguments :
I/ N ' L Z;%S'urg(t;ywilihbl‘ingkefﬁciency and
S (CHi12 14 in the work. -
106 1(11;) aﬁfg éggflégnf(t%ﬁmﬁ aam(D) 3, & Eﬁh&&i‘ﬁ!‘lb‘* i IIREHER Ko fhe
= 4 : a uman  resources
awff 3k el 2 3kt 4 frdt gerar &, q Wwhich are at present underutilized.
At 3iv g & 3 10 et wrern 8, R I No. Computerization demands a lot
J T 3R 2 37N 4 Rt wera B | of money. We should not waste
MEGRAE WA il IV. Yes. When,
. Yes, :
A person moves in northqgirection by . intrOduci;n advanced countries are
th left and moves by 4 km fi 8 - computers _in - every
again tx;gsml?é andarr‘noves %sy }IIO km, l;glll(iiﬁdhow can India afford to lag
again turns left and moves by 4 km, How A) OnlyIis strong&e”
~ 1ar the person is from initial position ? B) OnlyIand IIZ%.C\:;Sn‘on
(A‘/ 1f%f/1 km(B) 4 T%/4 km Ci Only I and IT] are stror%é. ‘ %
©) 9ffioxm (D) 14fFf/14km D) Only II and II are strong.
g

FK‘ ONred ;‘" Ty "*‘mw'imwmwn BN PRULA DIV R CESPELNTOTT R wvﬂx::;”" 4 PO PRI TV B PRI UV Al NN P L o070 XS PEITAN TV
- b = 12. .



108. 9 fw 7 woa F we o 3tk I 9IG |
3R 11 shmifera < umomd &) s & | 3nueht
FYq IR f=faRea amonai w feEm
FE 2 3R fofg @ R 5 e @
uren(€) HuA § sfafikd 8/2 |
FYT ; 27 T & HREH 3 PIfER e
gt ST |
qrond ; I St 27 WIS 9 HIEE 3 ©m
g Tty &

IL Tsgafd &4 & forq s
v T AT g | F
(A) aet gron I afifga R |
(B) haet UROT 11 3affed & |
(C) T IanIlaffEa? |
(D) ANIRAR I affea R |

In the question below a statement
followed by two assumptions numbered I
and I is given. You have to consider the
statement and the following assumptions
and decide which of the assumption(s)
is/are implicit in the statement.

Statement : Imprisonment for 27 years

made Mihir Kalal the President.

Assumptions :

e

I.  One who will be imprisoned for 27

years will become the President.
II. To become the  President
imprisonment is a qualification.

A Iuficar & et 1 ) 3= gt Aeeet B g

w2, fuam

A, 3I00ad (1) H, ARFT 70% 37 S WY Th
ToaeiiE S R, o) wren S, st
Y NI S FHAT R |

B. 39 (2) #, sftha Rren wrfere & &9
A T A T HY T HA 2 TS HI AN
R, o e arem, swell wfufy & S S0
ghdare |
freafiRad ToF T 8 T IHEER 5 TR
3 e € T 2 | SR I AFGS!
3R vl & Ho § gwer favewo FE 8
3t e 3Rra itaré o wh Enft | It
A M IS % A $6 off TE AT
2| 3 oft WS TR 1-10-2005
feufer % sTgar fag M E |

Q. Nos. 109 to 113 : Following are the criteria

for selection of computer professionals in an

organisation :

The candidate must —

(1) be a Computer Engineer or MCA with
first class having minimum 65% marks.

(2) have secured at least 50% marks in the
Selection Test.

(3) have secured at least 40% marks in the
Interview.

(4) not be less than 21 years and not more

than 30 years of age as on 1-10-2005.

(A) Only assumption I is implicit. : .
(B) Only assumption II is implicit. In case of candidate who satisfies all other
(C) Either I or II is implicit. criteria, except : . :
(D) Neither I nor II is implicit. " A. At (1) above, but is an Electronics
. R , Engineer with 70% marks, the case may
w. &, 109 & 113 : et gra & shogex Wl & be referred to the GM, Recruitment.
W%mﬁﬂmﬁmg: B. At (2) above, but is having at least
2 years’ experience of working as a
IHfiean — . i v Systems Analyst, the case may be
(1) =gIa9 65% 37ep! o HT T St ﬁa;agt referred to the Chairman, Recruitment
iR 1 e B AT g ICommit}:ee. :
) syt ,In each of the following question,
@ 3 W LELERLE 0/"% / information about one candidate is given.
R g \/ 'ﬁ,—a \l(lou have to analyse it with referenc?1 to
() Y TnaTeHR # B A FH 40%,37% I the above criteria and condition and then
Gl e \/ : \/ v/ _ decide the appropriate course of action.
" You are not to assume anything other
) than the given information. All these

%1 371 1-10-2005 W1 21 T8 | F1 33
ad § ftres €l S =R | \/J

FONPROLNTEVE FOAN PEILA VR A PETLNT VS M\V\“TAT'TA' PPN PEULNTIVE 0y
9

5

v

cases are given to you as on 1-10-2005.

: . ]
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109. T 75% 3 % wr O fuferer g

"~ ®) ;ﬁm
|

::::::_.:Z#VI(B)

110.

2 | 3T I 6 TS, 1976 g3 T |
I 7T e § 70% 3 I WETEHIT
¥ 429% 37 W f |

A) afe Iefiear o = ffa s @
&t fopan s

(C) afe arae e, Wl wfufa it Sen
cicik S

(D) e wmen S, Wl Sl AT AR |

Sanjay is a Civil Engineer with 75%

marks. He was born on 6% July, 1976. He

scored 70% marks in the Selection Test

and 42% marks in the Interview.

(A) Ifthe candidate is to be selected.

‘ If the candidate is not to be selected.

©)
D)

Chairman, Recruitment Committee.
If the case is to be referred to the
GM, Recruitment.

T @ 7 1998 T 22 T it 3W F 70%
3! % |y Ty T | SR JIETehR
# 55% 3 3R =T 9henm ¥ 55% 3%
o1 3T | 98 1999 H TR % ¥4 § TWh
IR St § Wit g ik feEt
2002 ¥ fireen TR % &9 # qqi=id §¢ |
(A)_BR Irfiedit 1 97 fRar ST 2 |

(B) dfe Imficar %1 95 T R I R |
(C) afe e sreaE, siell At Hi S

AR

(D) 3R e Sfted, sl 1 WA AR |
Modi Jay did MCA in 1998 with 70%
marks at the age of 22 years. He scored
55% marks in Interview and 55% marks
in the Selection Test. He joined an IIT
company in 1999 as programmer and got
promoted as Systems Analyst in
December 2002.

If the candidate is to be selected. .
If the candidate is not to be selected.
If the case is to be referred to the
Chairman, Recruitment Committee,
If the case is to be referred to the
GM, Recruitment.

(B)
©

((5)

.

If the case is to be referred to the |

111.

VD)

112.

sifra X sfuae (3mER) F 80% 3 3k

ittt 3 78% 37 W1 fohu |
<o e 3 FNETERR H I 3T AT
5505 3R 60% & | T8 2001 ¥ frem
qqrﬁﬂz%mﬁmmdﬁ | 37

s=afaf 19 ardye, 1980 R |

f grftear %1 9 R ST 2 |

R
(©) zﬁatnqﬁﬂ.Eanﬂ,tﬁﬁi?&ﬁa?ﬁiﬁﬁﬂ

IR |
(D) af wre SfieH, YT AR |
Ankit scored 80% marks in B.Sc. (IT)
and 78% marks in Electronics
Engineering. His scores at the Selection
Test and the Interview are 55% and 60%
respectively. He has been working as
Systems Analyst since 2001. His date of

birth is 19™ April, 1980.

If the candidate is to be selected.

If the candidate is not to be selected.

If the case is to be referred to the
Chairman, Recruitment Committee.
If the case is to be referred to the
GM, Recruitment.

e, T S iR, 2003 F 22 T¥
#t a1y ¥ Jifem vl ¥ 72% 3 & W™
Jefivl g | IR = whan ¥ 70% IH
IR ATHTEHR | 48% 3k UTed fu |
(A) IR I=fiqar 1 =g fRn R |
(B) e Infican 1 wem i Rer s R |
(C) afE wmwem srema, welf wfdfy =) S
IR |
(D) 3 IR |
Vijay, a Computer Engineer, passed out
with 72% marks in the final examination
at the age of 22 years in 2003. He
secured 70% marks in the Selection Test
and 48% marks in the Interview.

(A)
(B)
©

“/(A) Ifthe candidate is to be selected.

(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the

Chairman, Recruitment Committee.
(D) Data inadequate.

FK-3
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114, 39 T g™

PN PETULNTE VR DA

113. =31 80% 371 3 T1e U HAR TR

2 | 36 FTRITHR S = wle § 55%
¥ Hftreh 7% 9T fpg | 3R XYZ St
¥ 5 |11 | Ao gmg 9 fawen wfaw
FEIHHHE AR |
(A) 3fe Ifiear 1= R ST g |
(B) 3fe Iuficam <1 == & fhT ST 2 |
(©) aﬁtgqmm&t, et aftifar =t A=
SICIFN!
©) ey
Divya is a Computer Engineer with 80%
marks. She scored more than 55% marks
in the Interview and the Selection Test.
She has worked in XYZ company as a
Systems Analyst for more than 5 years.
(A) Ifthe candidate is to be selected.
(B) Ifthe candidate is not to be selected.
(C) If the case is to be referred to the
- Chairman, Recruitment Committee.
/(D) Data inadequate.

R % ¥ # W §,
e T A i i e T Rt ©
IR T AT eIt & 3R A et
AT A 2 le‘s agj : i e
(A) AABdS Y i iR
F foTT ot 1 TAT HET =00 |
®) From g ghfeem w0 & foag
fpei ! F=E =Y o sfie W
- s e | o
(C) o Sk AR & et
e =T | S
(D) af vl geq 9w i ofig
SR 1 Efea W & =Ry X
You. are stationed as a police officer, an
agitated crowd at a local fair accuses a
teenager of theft and attempts mob
lynching. You should : A
(A) use force to arrest the accused for

. questioning.
“/(B) rescue the teenager and disperse
the mob to ensure fair trial.
(C) make the accused confess under
duress.
(D) let the mob punish the accused if
enough proof available.

115.

116.

(D)

PEQLATITR SO PEILNTETA S0 b ATV G 5
PIENTIVA Seorp SN,

D)

a9 e g st ¥ &9 W E,
3TTaeRT ST T Freer e i feae
=7 @ Tt $@ i Jarh H foave
HFHT T EXel & | STTYeh! :

(A) T AR w® wfm wFA R
Ryerfeer e =R |

dewe ¥ T % fau fFers
Tl Y HRATE ! 11T |
daesier 831 # ggres gierd gata
ser Ryl

ot iR wrimd W ufaey
ST SR 3R |9 h fdeEtd e
) SE

You are stationed as a police officer, you
receive reliable information of preparations
to violently disrupt upcoming local body
elections. You should :
(A) recommend postponin
electoral process. :
(B) conduct preventive detentions to
avoid subversion. _
mobilize auxiliary police
augmentation in vulnerable areas.
(D) ban political campaign events and
restrict assembly.

&m i sg-wnfies s o e wq@
%I«'\q‘a,aﬂ‘ﬁﬁ: :

(A) TE FH B TH AMREIAHIAH
] ST =10 |

FaE™ & T araferent st
% Ty feranati SR S =R |
T HRATS ! =1 |

HAG % WA @ wE § wwee
wftd F0 % e wgi @ mive
T R |

(B)
©)
D)

the

®)
©

“As head of police in a riot-hit mixed

religious locality, you should :
impose indefinite curfew
tensions subside.

table concemns Wit.h municipal
authorities for resolution. .
act tough on miscreants crossing
community lines. :
engage elders to reconcile groups

through dialogue-

: ” “
P et anedtadl MMFK-' 3

_ till
(B)
©)

I




g TEVE PN

Fef e Sitery e =ied |

You are stationed as a Police officer; to

prevent further cases of card cloning at

ATMs, you should : )

(A) temporarily disable all ATMs in

_~ the jurisdiction. )

«AB) examine ATM machine access logs

' for anomalies. .

(C) place one observer each in all ATMs
to identify suspicious accomplices,

(D) purchase” card cloning machine
prototypes to understand methodology.

. 31T T Wi st €; o et

T ¥ AHEA o SO |TEEt § 3
FA 3N S
=ramefieit 1 T H % forg wr fvaa

1 J9THY B TET ] | ST :
(A) afoEieRa fe@rh =R e T
w1 ¥ IRt % Reens TEd FehA
W 91T | ‘
(B) IWE Tl WIRT 3R JHerea
) qrReRia & U9 ST =R |
(C) Hew@ eR w1 fo@mEr s =Ry
AR HHAR T é@ T il HIEd
T e | s )
(D) A U9 fAufe AR S=
F | T TR l\(}
You are an Investigating officer; the
primary accused in a VIP assassination
case 1s offering huge bribes for
manipulating evidence and influencing
judges to ensure acquittal. You should :
(A)” comply on records but secretly
collect dialogue against accused.
“(B) remain uncorruPtqd and present
facts transparent g in court.
(C) pretend to agree ut submit weakly
?abricated bogus ﬁ;\éld?;ce.
id investiga . per your
(D) ?r‘llgelpendent px%fessmnal Jjudgement.

i m@ﬁmﬁaﬁm%sﬁm

maﬁtm@f@%ﬁﬁﬁm%l
mWwﬁ%ﬁmﬁM%
ﬁmqggaﬁﬁﬁﬁﬁ\mmw%l
@aﬁ,mﬁﬁm%m,m
mwm@?ﬁéaﬂtmm
Frdreren 3 ST I & | SR
e Hﬁﬁ@msﬁmwﬁ
<) R R ate e
3fit gehfdl ¥ HE =T |

(©) v Tgét I =i AR TR

233 e e A g | Y

(D) T¥d SIS SETEIHH B! <MY 3T
3= e SRl % i 9
g =i |

'You are a constable in a special cell that

deals with cyber crimes and online frauds.
You have been trained in various aspects
of cyber security and digital forensics.
However, due to a shortage of staff, you
are assigned to a patrol duty where you
have to patrol the streets and respond to
emergency calls. You feel that this is a
bo'ring and mundane task that does not
suit your expertise. You should :

(A) refuse to do the patrol duty and
insist on staying in the cyber cell.

(B) do the patrol duty reluctantly and
_ complain about it to your superiors
i and colleagues. '

" (C) - do the patrol duty but constantly

look for opportunity of taking leave.

/(D) do the patrol duty enthusiastically

and learn from the experiences of
other patrol officers.

5 TITR CEONPEOVINTET L RN PUVLNTE VL CON PROLNTE VS
PITLATSY S AXN PRCTN T T FOS PEATITE = Gl K BN PG T i, (RO AL TRV PO PETTA CT & SN PLNTIY &



120.

121.

e,

VD)

V(A)

i1 & weesr & Wit w6 st
HTQ T, IR ;
(A) BT A FHT IgAN FEH ms:ms‘ang/%
Y ETasaHr guf e =i |
fovama wrm A ¥ fve ar wue
qifgan = mﬁsrqo FI A HIEHT
T =R |
fom foreft mfte gm0 sufufar
At @ ] T T Higa
T TR |
D) vy wrier % o At
e =t wmiaha o =i
When investigating rape forensic
_evidence from victim, you should :
complete  documentation
with FIR using pseudo-name.
personally interview the victim in
plain clothes to build trust.
focus on Medical test ruthlessly
without any women police present.
transfer to experienced Woman

Inspector without direct
involvement.

Tl 3Eh! IPEE F =W =0 F,
HAYH! 9dT T@al & T AU AT
JfnTae gaeTal i | ifea gu g | T :
(A) uliEls wefsa & ﬁ—mﬁgw
fe<ht =t smTSR HigHt =T |

AT Agea & o 3o &t o gy
&Y Q GG ST 1T |
fore qU B 9% =M

(B)

©)

along

(B)
©
®)

(B)
©

(D) .
Y& FA G TH & T S higd
weramel S

In the climax stage of a nationwide terror

manhunt, you learn your only parent

suffers a debilitating stroke. You should :

(A) handover reins to accomplished
deputy for family priority.

(B) remotely coordinate certain areas
without Ops leadership.

(C) conceal news avoiding distraction

till mission completion.

commit singular focus expecting

siblings to handle parent.

e 14 'm'vw‘mmmwummxmnmmm.“ o : o
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122.

123.

v (B)
_(©)

e yfersr ifirprd) % w9 1, 31 3@ & 6
g uififes srewderR 5 g |
afee frar s @ & | 3 .
(A) ! 1 JecEd F ATl FRRT
W g T W
YeheHT e FfEe |

B) Bemd ® s f seEEEd
HE AT B Hghfa HET
=1feT |

(C) TG ! &7 HA % forg ag-wdi
AT HeaTg ST i =17 |

(D) ITCUEETH HEA % AfrepEi B %
AT ek fafereran wmy et =T |

As a police officer, you notice certain

religious minorities being denied

neighbourhood entry. You should :

(A) arrest and prosecute housing
societies flouting laws.

refer complaints to state’s minority
welfare schemes.

organize multi-faith community
dialogues to ease tensions.

enforce diversity by posting
minority community officers.

T ferd AT o §9 1, TrEsiet A

HI Y0 SAisHaT & QU IedfteT IR

TRAT % Jeelud T WA HA hH R

HA & | 3T

(A) wewIfir & fore fer-stitrepm wqem
wEgaeh! 1 wfagfER s = ke |

B) St I=m W W N W

©

D)
T ! 3 e =y |

As a police officer, transgender citizens

report facing harassment and dignity

violations during law enforcement

Interactions. You should :

A) depute gender-rights community
volunteers for engagements.
implement mass  sensitization
drives on appropriate conduct.
enforce strict disciplinary actions

- against offenders. L

take complaint and forward it to

Human Rights Commission.

A A PIRISATIIY & O PWLEA TRV A SN PN T TR AW

(D)
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124. T gfeE mm%mﬁ,wmm

T amrass fvfa &1 o w1 wptesta s ¢

(A) =affma ohffal 6 war fae
fom, s &1 rew: werE A aeH
Eacill

B) fRufy F R aompify aiv fram &
Y HTLH ATEIharatt H wgferd
ST |

(C) > It & Fadt W gaa 3BT
for 39 ameEit <1 wTer T |

(D) =afewwra Afes geal s @w] FHE,
T & 3 Tenfia Fri 3 faoda & |

As a police officer, what would guide

your decision-making in enforcing laws ?

%z.}fA) Strict adherence to the letter of the

law, regardless of individual

circumstances.

(B) Balancing legal requirements with
empathy and consideration for the
situation.

(C) Following the orders of your
superiors without questioning their
judgment.

(D) Applying personal moral values
even if they conflict with

established regulations.

125.@3%831&3?!11%@13,31@@

et ¥ e giora R # frge e S
2 | frorfafaa 3 & #1491 39 i H

719 & ) g R HT I @ ?
(A) VYA g4 i
(B) Ther At

(©) e areftersh

(D) I9-HEET Q

As a police officer, you are assigned to a
police station in a district. Which of the
following is the name of the officer who
is in-charge of the police station ?

MA) Station House Officer

(B) Circle Officer

© Superintendent of Police

(D) Deputy Inspector General

T AN POTN TP

lzo,qmgmaﬂbwﬂ&;mﬁ,wmﬁm

A~ Rearr ot wert 1wl o T T

it =TT 3 it w1 Jeetad e # |

ST :

(A) e amaves @ @ R @
FeTa Py ] FE I |

(B) ama?ﬁﬁ;a?ﬁaﬁmt@ﬂﬁ‘zﬁ\/

© aft S v fRufar & s =fee ICN
(D) 3Tt Y@l ht HErd I T

As a police officer, certain religious
customs violate  Supreme  Court
directions on entry of women in places
of worship. You should :

(A) enforce directions by removing
opposing groups if necessary.

(B) publicly threaten chargés against
customs upholding court rulings.

(C) avoid the situation by taking
leaves.

WD) sensitize opinion leaders leveraging

spiritual heads’ assistance.

127. WATEEH (?) % T W 39 feheq @ |

<>

Al:dHAT: :dlqcd : 7
(A) dTHS
(C) i

Find suitable alternative in place of
question mark (?).

Mother : Child : : Cloud : ?

(A) Shine (B) Loud
W(C) Rain (D) Weather




: 128. Fr=fafea w7 8 59 weg fRu mu § | 30

129.

130.

131.

fawm +t SieR FB g fmvad € |
et 78 | e g R

(A) T&H B) 3@

(©) Sefisd (D) dsHE

In the following question, some words
are given. They have some common
features except the odd one. You are
required to find odd one out.

(A) Annoy (B) Distress
(C) Harass (D) Ravages/”

feu Mo faeredt o @ 97 @l fobea o S
ST I T 4T 7
Choose the correct alternative from given
ones that will complete the series :
2.3,15.9, 79.6, 423, 2574, (7)

(A) 5632 (B) 8432
(C) 10300 (D) 180674

s fAffad ge Wi § “MADRAS” #i
“OWNHEQ” forar wimar 2 | 3t %2 #
“SUNDAY” %! & forar s 7

In a certain code language “MADRAS”
is written as “OWNHEQ”. How will
“SUNDAY” be written in that same code ?
(A) WUZRYX (B) UWZRYWays"
(C©) WUZWYR (D) UWZY\B/

v I & 7 fft e 8, fR T Tt
a1$ i gea & 3ft 3 fprdt e ® | 98

fi @ ot g1 o Fea @ 3t 7 Fht
ST T & | 7@ §% I AR fag @

frafemdg ?
B) w©

Ay S
() < (D) A

Shyam travels 7 km North, then he turns
to his right and walks 3 km. He again
turns to his right and moves 7 km
forward. Now in which direction is he

132.

133.

134.

@mﬁmmﬁqﬁ%lm’ﬁm

wré & 1 T 3 forr g & | A, r;rﬁif
ad & 1 Y, v ) wg 2 | A,

wié 1 A & | A, g A FRE THR
qafta ? ?

(A) ST (B) &

(C) v (D) WS

Suresh’s sister is the wife of Ram. Ram
is Rani’s brother. Ram’s father 1s
Madhur. Sheetal is Ram’s grandmothet".
Rema is Sheetal’s daughter-in-law. Rohgt
is Rani’s brother’s son. How is Rohit
related to Suresh ?

(A) Brother-in-law (B) Son
(C) Brother (D) Nephew"

qﬁ m “SPIRITU ” ﬁ @ 3‘_ﬁ'{ 'q’r-aa"'
HER 1 TIH TG § 9eA A S @,
Tt FHR S 37 TS &L T TIH FHA:
wrd 3fR A 7eR § wew T S B,
U wieg F el Y fpat Sifsat & i
I & &L B (m?ﬁ:m?rmn"r@) IEGERED
Firht autaren SEen A § ?

If in the word “SPIRITUAL”, position of
second and fifth letter is interchanged,
similarly position of fourth and sixth
letter is interchanged with seventh and
ninth letters respectively, then how many
pair of letters in the new word have as
many letters between them (either
forward or backward) as they have in the
English alphabet series ?

A) 3 v« B) 4
© sV D) 6
T °g! QUE (noon) % THE JE Y STt

¥ 1 4 59 10 e G, R R g om g
Beft 8

A clock is started at noon, By 10 minutes
past 4, the hour hand has turned through

from his starting point ? .k Ao’
(A) North (B) East%" (A) 120° (B) 125°W
(C) South (D) West () 130° (D) 135°
u""‘““"i'f;’“‘ e g 14-¢ 423 Y19 i \(‘;'g’;‘“‘,:'j“{(;’,‘g}_ “FK-3
Y . 230 2
b 5 Q3g_/'53 18¢ 4230 289%p Vg ATHC }
)@ 23%7-2 ¢S 4



135, Fraffaa Py w1 storm Y ol A2 | 138, v dfda i fifgrand @ 173 s | 199

o T S I | @ 9 R, @ 39 dfF § Iefigand h ga
StUd_V the fO“O\\'iﬂg ﬁglll‘c and answer Regll m"n % ?

the question given below. In a row Mihir is 17" from the left and

19" from the right, then what is the total
= iﬁ%dqﬂ / number of candidates in that row 7 r |
rained nurses *\3
()~ frarfen s / (A) 29 o e R
Married population @@ 35 (D) 36 D
N\~ mmﬁ:ﬂ -
: "
HE 7émasﬁmsrm?§rs?esm T (130, e R P o 4 x 3 x 3TAE N
AW 4 x 3 F faudia wos fid 1 @4 @
(A) i TR | I IAAM 4 x 3 F fqula o
B) feanfea wftrfira A TR T E | AW 3 x 3 % fawda
(©) 3reraTe # fyafa 7 FAH QA A E | @ A 1 3R
(D) fefim sfrfar 7| Y ATt Y Wi & e foran s 2 1 2@
What is represented by the number 7 ? o o1 T & R ff e i 7
(A) Trained nurses There is a cuboid whose dimensions are
(B) Unmarried trained nurses 4 x 3 x 3 cm. The opposite faces of
(©) - Mectisd nmurses inlie ks italvﬁ dimensions 4 x 3 are coloured yellow.
O} Miiiedtesined . osP The opposite faces of other dimensions
arried trained nurses

4 x 3 are coloured red. The opposite

faces of dimensions 3 x 3 are coloured

136. Fr=afafea & @ 9 91 s WA, 7o, green. Now the cuboid is cut into small
A & <= HEY H qEd 3= w@ i

cubes of side 1 cm. How many small
22 cubes have three faces coloured ?

Which of the following diagrams best ) 8%&@ (B) 12 %
indicates the relation between India, ©) 16 D) 20
Gujarat, Surat ?

O 140. ﬁqﬁﬁmmﬁmmﬁmwt,m
(A) (B) OO STG SR 3 91, fou e §, Rl & u R
Wwésaﬁﬁmmm“mm

@ | TR | TR |
©) O (D) @ v In the following question, a word has

been given, followed by four other
words, one of which can be formed using
137. BARL: 120 +3+8x 3 — 40=19 the letters of the given word. Find that
word,
Solve : 1;‘%93 L ; - 402;7 MEASUREMENT
(A) 24 (D) : (A) ASSURE  (B) SUMMIT
(C) -256 (D) 74 C)» RETUNES / (D) MANTLE
ﬁéfg,«m&m..»pmmtmvmq’? fk Q \\ o 20m¢ NTWVL PON PERLA TWY S s, mxmm\wﬁm'ma




141. T IAHE Th Ll weremen ¥ vadw |142. A= = A R HAR 3 3\w e 1, 11 3l

wrifra &= AT
HIT I G FH H AW R @ L | I %ﬁﬁaﬁmﬁ;ﬁﬁ%

frefifed oo § fot Al Frept o v e Rrem e R
| ok e R o 2 e w e
D Wi T W ITET HLA/AR/E |

(2) HITIYTW 24 YA
Tl I U 1 1§ ITeRR TE e, ST

3) 37 6 3iR AT BT 8 |
THU 3 I8 3 A3 FAMR | 0 R el o e
(4) e 3i gER i w1 e R | w@ﬁwmmi‘l

¥, ¢ ffel W R ww gy, s | L TR SRR

. 7 o fafdne oer & it S 3t
%wﬂm%_mwm@uaﬁg M. I T8 &9 4 s et &

. TS ) TRE HT R 1N
iflw;iﬁa%q%|3q.gaai$rwauum (A) Faw Frerd | SgEO F@IR |
TR T s (B) ham Frend 11 STTero e 2 |
scientist is trying to recall the access (©) 13 IIeH ST HR E |
code to a secure laboratory. He (D) 13RI GHT FATEWT HL & |
: e . In the question below two statements
remembers the following details ; followed by three conclusions numbered
(1) The code starts with the digit 5. I, I and III are given. You have to

assume everything in the statements to
(2) The code ends with 987. be true, - then consider the three

conclusions together and decide which of
(3) The second digit is the sum of the them logically follows

_ beyond a
' reasonable doubt from the information
first digit and 3. given in the statements.
Statements :
(4) The third digit is half of the second

L Water has no shape, has volume. :
digit _ II. The knowledge is like water,

flowed from one side to other.
Now, considering these conditions, the Conclusions :

I The knowledge is interdisciplinary.
scientist has narrowed down four II.  The knowledge is bound within a
tential access codes for the laboratory. specific area.
i _ IIL.  The knowledge influences the core
Find the suitable one. ( of mental activity directly.
4 A)  Only conclusion I follows.
(A) 542987 (B) 5849874 (B)  Only conclusion I1 follows.

(D) Both 1 and IJj follow: %"
E‘-M’wm‘? FONPRTIATIT & AR PRI TITL (TS LA TIT & SONPEEATIFR mmiaima CONPITTATIYA FAN POTEATS Y s ,,“..}}@@;Y‘F ANPERTATI VR CON PIRTNTTR

FK-3

Vs S
2Rhe



143.

144.

145.

146.

X AN PRETNTIT K TN I TPl FON PN TR
T AN PETIATETR
AN PITNTITE

FK-3

gg forew g4 ot few 7w w@giem 61 gdu
ofa @ rhl rerar-sierar 8 |

Choose the alternative which closely
resembles the mirror image of the given
combination.

BR4AQI6HI
(A) THoIOARIEY
@) TH6IQArsIEX
(C) IHOIQARIE

(D) IHIIQOAMAEL

e T {6 rmpfer (X) 3 few oy gt @
(1), (2), (3) 3R (@) & F B9 @ srFh
AT ST el 2 |

Find out which of the figures (1), (2), (3)
and (4) can be formed from the pieces

iven in the figure (X).
AN [HAIA
3, @

X) M @ @,
(A) (1) 2)V

(B)
© @ D) @

<R fohedt § & yar amd % urey we w5t
fergem Y w A w e S ferwm 3m 1

Find out from amongst the four
alternatives as to how the pattern would
appear when the transparent sheet is

Jup— -

folded at the dotted line.
@

Oiv Q| @
)

[ ————

)
&

<iO] i [8li |8l
D . 0. G B
) B) (@)

@ m
© V' © @

@)

A, BRIFEARIC,BHIARID, CHI
RaRIE,DRNARINA DA
Haftm e ? ¥ '
A) T@ (B) TN\ E

€) & D) WO

A is B’s sister. C is B’s mothSr. is C’s
father. E is D’s mother. Ther? how is A
related to D ? e

(A) Grand mother

(B) Grand father &5_/

(C) Daughter 2
(D) Grand daughteryy -

147.

148.

149.

150.

Frerferfin & % a1 et 1R Ry my
YISG! ST |1 HH & 7

| qhd 2. Ud
3. fe 4, i
5. <hMH '

Which of the following option would be
meaningful order of the following words ?

1.  Exhaust 2. Night
3. Day 4. Sleep

5. Work Z
(4) 1,3,54,2, B) 3,512,4/
(C) 3’ 5’ 1’4’2d\(D) 39 5’ 2’ la4

TEAFA G RN I AR
Choose the figure which is different from
the rest.

[
LIE

ol

=[]
®)

ki

L ]
4)

Ju
L[]
©)

LI ]

L
2)

(1)

Th 6t 7 Fet hi e & e S @
ST @ | 3fe Sl w w0 # Aef @ R et
2, T 3l Ha el il of

(A) 38fme (B) 47ﬁ:=12/
(C) 55fre D) 59 fme

The number of apples in a basket
doubles every minute. If the basket is full
of apples in an hour, when was the
basket half-filled ?
(A) 38 minutes
(©) 55 minutes

(B) 47 minutes
(D/‘ 59 minutes

TRAR : 108236 x + + 2 x 31
A &l
! -2-x3l

Simplify : 108 + 36 x 3 +

5 4

@ 1— By 2
1 1
©) 2; , D) 2

22
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